The table below compares the prices of two online grocery stores.  
	ITEM
	STORE A 
	STORE B

	1 gal. Milk
	$2.94
	$3.33

	Tide Detergent
	$7.58
	$8.79

	Fuji Apples
	$2.41
	$2.97

	Oreos
	$3.16
	$3.39

	1lb T-bone
	$5.77
	$7.99

	Orange Juice
	$3.67
	$3.99

	Huggies 24 Pack
	$7.76
	$7.99

	Breyers Ice Cream
	$2.94
	$3.19

	64 oz Colgate Toothpaste
	$2.08
	$2.19


Using the table, which of the following is the correct calculation of the t statistic needed to test the null hypothesis that there is no difference in the average price of items at the two stores?

A. -0.011

B. -0.541

C. -1.746

D. -2.686
